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(a) ffi{(I cfiSqfr qfqR CFs€ (extended asset market

moder) tht strq-dl t firqfdfu( ftqftd d cffi
frfiriq <fr + irdrid f{fu-(+ qqr+qr (po(folio

a justment) 6l fr*fi qlfrq :

(, frtsfr grr q1 l-itnfrK F-Sfd (appreciation)

dqier
(,, "foqqrq < il qFqt

(b) 3fil6Rd qtg gsfdl (uncovered interest parity) 61

wd q vnr.r q Effi 5n a1 reftn {f,-Sfd
(appreciation) d W tn* Eq {cEIr{S to Sfl 61

3nfd f sre-€rfrK qFc * cRqrqtqsc fqific
q{ 3{qi ff-fffir rflEflEr€sn 1d{ *] cR (overshoot)

d o't srfr tr
(c) 3TI@[R( qfq 3f<RquFI {tEfdl (covered interest

arbitrage parity, CIAP) i qr trg{ }, qs, sTgffi

Mq-d 61 qoqm t sqvEq :

Frqfrfua ftqftd i wr+qq s1 sh-qr o] sr{Eq-

(,) qq fsM dfir6 +{ * ccl d uqrdrr dtFI

ot<R 6l qH fra{fr Tfl qt ?IFKI Q lrorwara

discount) t 31Rrfi tr
(,, qq frffi 5il q< qFRI erFrelg (forwara

premium) qr qr t'a( dtr*- +< * qq ti
$rneFr qrsr erd{ i qFr+, tr
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(2 ) z4s5

(a) Suppose that the firms' markup over costs is S%, and

the wage-setting equation is W:p (l-u), where u is the

unemployment rate.

G) What is the real wage as determined by the price-

setting equation ?

(O What is the natural rate of unemployment ?

(iir) Suppose that the markup of prices over costs

increases to l0olo. What happens to the natural rate

of unemployment ? Explain the logic behind your

(rv) Compare and contrasl between the bargaining

theory and the efficiency theory of wage determi_

nation. (t.5 +2+2+Z\ 
(

Consider two altemative contractionary economic

policies. One is the removal of an investment

subsidy; the other is a rise in income tax rates. Use

the normal IS-LM schedules to discuss the impact

of these alternative policies on income, interest

rales and invesfnent.

( ls ) 2ip,s

(a) Discuss the portfolio adjusfinent under flexible exchange

rates using the extended asset market model in the

following cases :

O lncrease in the expected appreciation of foreign

cunency,

(D Increase in domestic interest rate. (4+3.5)

(b) Assuming uncovered inter€st parity condition and

expected appreciation of foreign currency to bb zero

initially, explain why the exchange rate overshoots its long

run equilibrium in response to an unexpected increase in

domestic money supply. (7.5)

(c) Explain using a suitable illustration what is meant by

cover€d interest arbihage parity (CIAp).

Explain the process of adjustment in the following

situations:

0) when negative interest differential in favour of

foreign monetary center exceeds the forward

discount on foreign currency.

(ii) when forward premium on foreign currency exceeds

the positive interest differential in favour of
domestic monetary cenfie. (35+Z+Z)

P.T.O.
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(14) ws

(6) 'tS ol Wi.rfcvne-cr * qrq ftq{ frF{qq<{ vond

11qr sffi q{) + erfrri-d q*' !E g.fl ql sr[ffi

qt ifiaq d tdr t, silr w Ird6'R +fr*' nft

wE frl cfisffid q''.ti t X"la: wq* t) qr* (

tr vttr s< ftqfr d {rqfttfrq *ft Xot<: vtt*

frfr tr'st orc Es qrfi t wrm t ? qq'{r5ql

@ (, qR .nrc { +tf.6. (nominal) cDP = lo0,

v = 4, Ms = 3o iIqI ettfit+1 coP = zoo,

V = 2, Ms = so A, + qrd q 3Tift'$r +i d

5lir qrqR d qlqr{{ql qni gq dk+ EHq
+1 qtrqcr t fdi{qq qt nK *t&qt crt

dfqs f*- qltf, fr eriic*l +1 gr+ i r.a.

I rovftsrd E1 Ck A qfr tA v* mtr,,
<r fl+s r+n vqfut dfi ?

(,, {Gl- g (depreciatlon; d vftof+wsv <titt

qffi t At qrfi qfuf-r] * mrq qrqn Y-srd

+ {qliqq i tr(fq{ (lags), alrlm Ir<,ffI

*1 etfm q ffc.r€ i fuq e-fiR sqrE-d

m{t t, qErsrssl

(3) 2485

(r0 Distinguish between strict quantity theory ofmoney

and monetarism. What type of statistical evidence

would you need to collect in order to support or

refute the major argument of monetarism' (4+3.5)

0) Consider the goods market equilibrium condition

in a closed economy, S + TA - TR = I + G.

(Notations have their standard meanings). Use this

equation to explain why, in the ctassical case a fiscal

expansion must lead to full crowding out. Explain

using the same equation, what happens to the

economy when there is less than full employment.

(ln both cases assume that there is no monetary

accommodation).

(r,) Discuss the role of the parameters l, (interest

sensitivity of money demand), , (interest

sensitivity of investment), I (income sensitivity of

money demand) in the transmission mechanism,

linking an increase in government spending to the

resulting change in income. using the expression

ofthe fiscal policy multiplier in the IS-LM model.

(3+4.5)

P.T.O.
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(4) 2/s5

(a) cn dfuS fa q'ff q.l er.rc * scr crdorc sz

t eq rq<fr ftqf{ur s+*',{ur w=p (r-u) t, qd ,
,irisqrfi 61 c{ tt

. (, stq(-ftqitq {++-{ur ERr frerfR( qrilkfi
r+gert ?

(,,1 tM fr1 yr5.Fro <r mr t z

(,O qr dfuqt+'*Har arrd* sc{ qrdsrc

q6.6'{ ro% t} srdr tr +M d erf.ft-o

<t ct irqr rqq rqdr t ? sTci Eri{ + +}
+ r+ q) qcil{qt

(,v) qil(fr-f{rtitot + dffi fuarit (barsainins

theory) g SVffiO f+ff< (efiiciency theory) ?i
6wr +ifuq q r;r* qq er<r wq *1&qr

(b) (') t Md-*, {iTq-rsrt erf4*, flftrql q{ fq-qn

+1&qt q+, t f++fl eqigrr $l 6arrn qnr

rqr (Tt t srmfi s1 <fr d qlar srqrq

IS-LM schedules e1 fftrq-cr t fC ffis,
rtfrrq] + qftqpnqsq qrq, qM c{ q f{+fl

c{ ygi qrd sqrd fl friqq s1fuqr

(c) (r)

(r)

(a) 0)

( 13 ) 24s5

Assuming money market equilibrium in India and

USA determine the exchange rate using monetary

approach when India's nominal GDP = 100,.V = 4,

Ms = 30, and USA's nominal GDp = 200,

V:2, Ms = 50. Suppose Ms in India increases

by l0 percent relative to that in USA, how will it

affed the exchange rate ?

Explain how lags in the adjustrnent of trade flows

to changes in the relative prices caused by depre-

ciation affects the trade balance in the short run

and the long run. (3.5+4)

en dfqs fu ftq{ fri{qq <r, W +qfi,
ftq{ fqtyfr qH q fffi qt(effi qd
q*, oTdiaT+*qr d frqt-d d tRr+c * mnq

++qqr0 q qq uTt rFI qrzl (currenr account

deficit) TFt=r f,)frr t r q6- tst qq-qft-{+r-{,r0

(expenditure-switch ing) ffi tSrSS tdq'S
e{rfrft-fr q Eru q}rJ rrtrfr e1 mfl< i wrq-m

firo r

(ii) qR re ifl d 81fr qrq d nqr,ffidid
sqq)ffr 6tffi q{dErs' t qqsifu-fl (indexed)

d, fr wr ES +fr eqr* ilft ?

P.T.O.
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4 (q)

(b)

(12) 2485

(,, r, r + t, r + z .rfr t( s1ft E{ ft1 rrur{ ftl&q I

1ri4 ffii +6 d +M 61<{ d ffi sfr
n6' ts{fi1 vrf-F{d, <t Q sTt {eil q+nl

flt Eqi ftFt erq ir{cm qFr (, q snr+

wr*wgsst z

(,, qf( ++c ++- q-d qfilrTq qefl t Yr< q'ql

qrt fr enc sS qqr voro ti ?

(, Suppose a country with fixed exchange rate, full

employment, fixed foreign prices and flexible

domestic prices, experiences unemployment and

current account deficii due to a fall in exports.

Suggest an expenditure switching policy which can

help it attrain both intemal and extemal balance.

(rr) Would such a policy be effective if the country

is experiencing inflation and wages are indexed to (

the consumer price index ? (4+3.5)

'A nation loses control over money supply under fixed

exchange rate regime with perfect capital mobility (at

constant prices), thus making monetary policy completely

ineffective in changing output. However fiscal policy is

fully effective in this case'. Do you agree ? Explain.

(7.5)

(,,

G) ('

(,D

(s) 2485

5f * ve vftunf fuUI<I (strict quantity rheory

of money) q *F*-dIctlE (monetarisml * tltz1

sr<R Fr€ *16qq fiffirnn d'xgu n-d

6.r (q+{ qr Ertsr q,G tg .rn f*e n-mR

u;1 qifuq+tr qqM qs-d ffi ?

qs. T< er+q{{ql it eq qrw< d qq;aqq1

(equilibrium) thl Yrd; s + TA -TR : I + c qt f{qR

oliwq r (ri#d * qn-* erd tl r W q+*wr

*1 voqm i eq-{r{s fu Rrfir*iq *s t
rIq*1dq vs$T + frft-qc sc
t T:i *-rsigr ense ffi1 Efi qm-rlq d
vErq-fl t qE di {q'flrgq f*.qq tsqn qT

R( fol +q,TR t q'.q *cr t n-e sr+q{rqr

q{ iF[ ernq qqo tr (td d qlqd i qq

dfqs f*' dfr*' ffd d sili s6qm qMr
(accommodation) Td f+.qr qrdr t) |

rs-LM rifs€ t rrw*1dq ffi Uuro + aiqfi

o1 mrq-o q qmfr qc q EE u1 Eq-+

qft'ofiq{qsq srrq d Ai qmi EFe t +gi
sfd {Ttur yEIIS (transmission mechanism) I
cr+d l, (TET d qi'r fi1 qru * vft

P.T.O.
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2. (q)

(b)

(c)

(6) u8s
{'}<qst6dr), 6 (t{+{r o1 qrq * yft
{furvn-o-at) q i (5fl *1 qi.r fr1 3Trc *
yfr {+<wfrvar; qfi r1fo*r ol Bw *1fvq r

Suppose, an economy is in the medium run equilibrium

and the central bank of the economy resorts to an open

market sate ofsecurities. Using AS-AD and IS-LM fiame-

work, discuss how this action of the central bank affects

output, consumption, interest rate, investment and price

level in the short run and in the medium run. Also discuss

the issue of neutrality of money in this context. (5 + 2.5)

(, Under what circumstances, according to the

Ke)mesian IS-LM model, changes in govemment

expenditure would not be necessary to offset

fluctuations in private spending. Why according

to the K€ynesians this was an unlikely

scenario ?

(r, Explain why the model inconsistency problem exists

in adaptive expectations. (4+3.5)

0) How does an individual get rid of the 'signal

extraction' problem ? What is the effect ofthis prob-

lem on the labor supply curve ?

(D What are the properties of rational expectations ?

(3+4.5)

( lt )

vfq tr crt dFqS f*. tM a1 <{ ynE{ d

cr5,fun Er * enq{ tr qd rd yrFr+,rt +M
q1 Er dr q''q q''{* 3% y{ ?rA s s+ E+yn +
tqq vq F{ vt {ei ET frdq *-{t t,

(,) i0-q6 q1 srf.trfi <r Hr t ?

(ii) t,r+t,t+ 2 qfftq1fre1 <tnroEifrql

(i,, EFrr 0 = 0 tht qrqer n-*ti.rc t 2 €q{r{q I

o: I tE "fr Ve Y{r s1 3-fl {frql

(c) clr dfqs fs' fulfrEg qfr n, - ni -- - (u, - 5o/o)

t nvt l-srRrf, r+fr <t ri : r,r

(0 yt{ sTfqq-tQII fu en efgVn (sacrifice ratio)

HIt ?

cH dfqsis tfurqrfr srrE rd sTq-fi yrfFd-qr

Et c{ t fiqr ft = t2yo t #q +s Fruiq q-rm

t fm tzx rq+fr <r o.rs1 ortt-+, t aqr q{

rt srcrr q.{+ {6 tM si <r qi n-s

rs Ys+1 yr$,fils.(t tSs' cfrvrd f+g ow

rdrn, w rs gn1fr E{ 6q Et*l 2%rR rd
en qrfr I

(

P.T.O,
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(a)

(t0) 248s

(iv) What advice should you give to a cenral bank if

it wants to achieve the same results quickly ?

(l+3+2+1.5)

qH dfuq f* tvr x tg st*-i sr t{qq f{q vfiR

tt
r,- uut = 44 (gr, - 3o/o)

(, EiqE qfi fs.s qfe E{ t +tqIrrt ql <{

i vftra{ l vtd{rd td€3i E1 Ek t}m I sen

*1 qf6 <r * cnrtr+ rt| $ qr*$ +t-srqrt

El <{ fs's YIFR Tq s+-fi t ?

(ir) qft tq qlEtBfnttffid<t l3rlrd
qn qd I A yftva fu<.n +1 fiRr*e A A

ren q1 td,,q qrffi{, qt{ <t fr1 qr{{'Ffi-dl

dfrr

. (i,, IIFI diqs fs tro d ad * w+ il qr<t

$fl?I (second baby boom) +lrflT t t qR o' Olf*

ql qk <t i A YFdfla fq-€.it ql qtu t}fr

ti enc qtm * ftqq t qr qfiFdr srSfst(

6-{i t ? {r{rsql

qn EtFqS t6 ful6q qt6' fiq Yqrt t ", =

rc:+ o.t-zu, qd n,' = 0n, r. TIFI dfqq fs. 0 6T qH

' (7) 2485

(a) qn dfqq fo fr* sr+qfiql €Bq+ ql4Tfii+r

€rqFGqt t t aql vs+r *dq {-o qd <rtn

i gfflffdd +1 ffi q'tet tr es-eos ts-lt'ln-a1

o1 voq-ar t ffiql 61tqs f*, ffiq dq. qI qE

+-<q Egfite q q?zrErore I rtcr<, sv*q, qrq

<{, f{+{r q qtqa <t q1 t*.s rmq gqrfu( fi-ral

tr Ee cftiw i g'rr *1 E<rqt{-dr * 5t ol $
Rfi sfqql

(b) (, ffiq 1s-1v frs6 * qun fm-t qmqmd

I fr$ qq d wn-<6re * sqrs ft1 i'rt{fl

(otrse0 q{i ?g qas,rfr << t EB unvzr+

Tfi tfr i 4dq qffi * ergvn rt
q*- sr{Terdr ftqfr d t ?

(ir) qqgr5q fO 3l-gmYrfe YFINII3ii (aoaptrve

expectations) S f€-d 3rS{trd-dr (model incon-

sistency) th1 rrEr{zll tF'I 3Tk€ d Etdr t ?

G) (, {*-d fTw.{q +1 qqq (signal extraction

problem) t fo'q Ys'R er6nr crw qrdr t ?

5s TFTFII t5,r 
'rc 

affd Erfi q{ f,l rtlrq

frdrt ?

(,, c-d{.rc rervnsfr * wr tqqd t ?

P.T.O
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(E) 248s

3 (a) Suppose the Okun's law fior country X is given by :

u, - un, = 4.4 (ey - 3Yo)

0) What growth rate of output leads to an increase

in the unemployment rate of I percentage point per (

year ? How can the unemployment rate increase

even though the growth rate of output is

posirive ?

(ii) What yearly rate of groMh of output do we need

if we want to decrease unemployment by two

percentage points over the next four years ?

(rl, Supposen that the country experiences a second

baby boom. How do you expect Okun,s law t

change if the rate of growth of the labor force
(r

increases by two percentage points ? Explain.

Q+2.5+2)

(b) Suppose the Phillips curve is given by nt: r.; + O.l-

2u,where ti = 0r,_,. Assume 0 is equal to zero. Suppose

that the rate of unemplo)ment is initially equal to the

natural rate. In year , the authorities decide to bring the

unemployment rate down to 3% and hold it forever,

l

. lv )

(n What is tle natural rate of unemployment ?

(il) Detemine the rate of inflation in years ,, , + l,
t+2.

(,'O Is the assumption 0 = 0justified ? Explain. Answer

the same for 0 = l. e.512.5+Z.S\

(c) Suppose that the Phillips curve is given by n, - ,r,. =

- (u, - 5o/o) and the expected inflation is given by

ni = n,-r

' (0 What is the sacrifice ratio of the economy ?

Suppose that unemployment is initially equal to the

natural rate and rt = l2yo. The central bank decides

that 12% inflation is too high and that starting in

year ,, it will maintain the unemployment rate one

percentage point above the natural rate of unem-

ployment until the inflation rate is decreasedto Zo/o.

(O Compute the rate of inflation for yean r, r + 1,

(

t+2.

(llr) For how many years must the central bank keep

the unemplo),ment rate above th€ natural rate of

unemployment ? Is the implied sacrifice ratio con_

sistent with your answer to (r.

P.T.O.

(


